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S 1> summary(glm(formula =y ~ t))
e -..,,/ Deviance Residuals:
o '.,,/ Min 1Q  Median 3Q Max
,' -2.1295 -1.0583 -0.0817 0.9860 2.0188
1990 2000 2010 Coefficients:
¥ Estimate Std. Error t value Pr(>|t])
(Intercept) -414.5655 7/1.4761 -5.80 ©6.6e-06
t 0.2339 0.0357 6.55 1.71e-06
— " + ~ =+
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model

{

Tau.Noninformative <- 0.0001
Y[1l] ~ dnorm(y[1l], tau[2])

y[1l] ~ dnorm(0, Tau.Noninformative)
for (t in 2:N.Y) {
Y[t] ~ dnorm(y[t], tau[2])
v[t] ~ dnorm(m[t], tau[l])
m[(t] <- delta + y[t - 1]
}
delta ~ dnorm(0, Tau.Noninformative)

for (k in 1:2) {
tau[k] <- 1 / (s[k] * s[k])

s[k]

}
} 2016-08-03

~ dunif(0, 10000)
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F%J@?’J\(TGDIEIUT'J spurious regression L&

Environment History

27 spurious_regression.R

b QA £-18 =i Run |3 | L3 Source - Files Plots Packages Help Viewer
1 x <- cumsum(rnorm(100)) = ) g T
2 y <- cumsum(rnorm(100))
3 plot(ts(x), col = "blue", ylim = range(x, y))
4 lines(ts(y), col = "red")
5 print(summary(glm(y ~ x))Scoefficients) R
w N \
— I| I'. / "-\.."f\‘ul
Ill"ifu II|I I_\_;JII I
|'ﬂv. 3 .'I i
/ i ."\/L
e / /! 5
IIIIII |'II II|
| V’ll || o \'l
= Y |
5:40 (Top Level) 3 R Script - i | 1 i
— | | \
Console . || I|| [,/\IIIIIII.' \/Wllu\ II/_.
| P {
> plot(ts(x), col = "blue", ylim = range(x, y)) F | fH mj /' \/
I-' .._\I ,‘\/ / ,f‘\-,l II'-._.I
- n n IW‘III' J'II\ ﬁ\/\l Y Il'
> lines(ts(y), col = "red") o4 W
|I I." f f | | /
> print(summary(glm(y ~ x))Scoefficients) V AW
Estimate Std. Error t value Pr(>|t]) | | T . T
(Intercept) -1.67120 0.90288 -1.8510 6.7186e-02 0 20 40 60 80 100
X 0.64551 0.10803 5.9753 3.7127e-08 || -
Ime

~ |
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